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mH 496 257 239 218
=] 1,793 953 840 832
Jg 2 A 363 184 179 165
HE R 462 222 240 233
FAKRE 1,669 858 811 706
hE 625 316 309 275
/iR 995 521 474 465
EINVE 308 138 170 147
mEH 1,091 537 554 491
EFH 665 349 316 297
J\ i BT 2,058 1,056 1,002 974
2 1,311 648 663 624
F KT 1,297 665 632 560
DDOUME1 1,634 868 766 949
DDA E2 1,731 891 840 925
DDA ES3 1,365 661 704 634
DDA E4 1,842 913 929 920
I\IE& 1,282 612 670 565
% HH 2,741 1,366 1,375 1,246
R 1,442 745 697 697
TtEILE 3,344 1,647 1,697 1,487
o 1,941 956 985 901
MEMNE 1,472 730 742 591
mENE 1,284 626 658 553
#dt 660 340 320 326
HHE ET 1,127 598 529 598
#hrh 1,142 587 555 548
sRE 1,402 720 682 579
= 836 438 398 403
o 519 260 259 222
FANEET1TH 637 348 289 293
BENEET2TH 1,345 680 665 589
FTREETSTH 1575 803 772 541
VA 497 246 251 231
1t 424 229 195 213
[ZLDE1-4 2,588 1,318 1,270 1,237
[ZLDE2-3 2,707 1,339 1,368 1,182
iy 1,850 929 921 864
3+ iA 495 249 246 197
e 218 104 114 95
EXN 561 262 299 235




BH—XE1 1,127 561 566 504
MHE—XE2 826 412 414 349
A —X%E3 1,398 694 704 639
i == ol = 1,831 909 922 687
MEA—_XE2 631 316 315 298
BHA=X%1 929 457 472 342
FHA=X%2 878 410 468 393
£iB 1,811 967 844 840
HE—K 1,090 531 559 475
HE-X 934 448 486 350
BRE=K 1,819 925 894 653
BHES&S 1,177 607 570 685
BHka 1,524 754 770 616
&g 3,014 1,549 1,465 1,445
HETRE 1,737 867 870 857
RKE 2,690 1,359 1,331 1,185
TR 511 249 262 228
HEFE 492 244 248 217
Jtfaa 578 280 298 251
EakiskS 1,329 662 667 581
A1 837 406 431 382
FHA2 1,194 572 622 532
FEFA3 817 400 417 375
EfA4 610 309 301 285
KB 1,182 586 596 502
= 82,760 41,643 41,117 37,479




